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QUESTION 1

Which of the following statements about the refreshing mechanism in the case of link switchover in a Smart Link group
is false? 

A. MAC and ARP entries are refreshed automatically against traffic. 

B. The Smart Link group uses a new link to send Flush packets. 

C. When the active link recovers from a fault, Flush packets are sent to refresh entries. 

D. When recovering from a fault, the active link remains blocked and traffic is not switched back to it. In this way, traffic
keeps stable. 

Correct Answer: C 

 

QUESTION 2

Which encapsulation mode is used for the MPLS protocol on an Ethernet network? 

A. Packet mode 

B. Frame mode 

C. Transport mode 

D. Channel mode 

E. Pipe mode 

Correct Answer: B 

 

QUESTION 3

According to the STP protocol, a certain field in the BPDU identifies the root switch. That is, if the BPDU 

sent by a switch contains this field, this switch is considered as the root switch. 

What is this field? 

A. Root Identifier 

B. Root Path Cost 

C. Bridge Identifier 

D. Port Identifier 

Correct Answer: A 
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QUESTION 4

One route-policy may have several nodes and each node has a node ID. Each node may have "multiple" if-match and
apply clauses. Which of the following statements are true? (Choose two.) 

A. Different nodes are in an OR relationship. 

B. Different nodes are in an AND relationship. 

C. If-match clauses under a node are in an AND relationship. 

D. If-match clauses under a node are in an OR relationship. 

Correct Answer: AC 

 

QUESTION 5

Which BGP attributes are optional in a BGP Update packet? (Choose two.) 

A. Origin 

B. Nexthop 

C. Local-Preference 

D. MED 

Correct Answer: CD 
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